Одземање со броење наназад (разлика)
	55 – 4 =
63 – 2 =
98 – 4 =
74 – 2 =
47 – 1 =
87 – 5 =
94 – 1 =
46 – 3 =
69 – 4 =
59 – 7 =
75 – 1 =
99 – 2 =
	64 – 9 =
33 – 7 =
51 – 5 =
82 – 4 =
75 – 9 =
52 – 3 =
76 – 8 =
94 – 8 =
83 – 6 =
21 – 5 =
17 – 9 =
66 – 7 =

	29-21=
 35 – 35=
 29 – 26=
 48 – 32=
 75 – 55=
 49 – 46=
 68 - 28 =
 48 – 17=
 55 – 35=
 47 – 15=
 84 – 62=
 71 – 41=
	38 – 19 =
42 – 26 =
51 – 17 =
93 – 34 =
77 – 28 =
24 – 18 =
66 – 37 =
94 – 56 = 
52 – 44 =
42 – 29 =
66 - 28 =
48 - 19 =


	Дополни за да биде точно:

26 - _____ = 19                34 - ____ = 26

40 - _____ = 33                23 - ____ = 16

41 - _____ = 35                29 - ____ = 22

[bookmark: _GoBack]
	Најди ја разликата помеѓу броевите во секој пар:

*49 и 57 ________________________

*63 и 71 ________________________

*81 и 73 ________________________





